Year 2

ST'€-G0’€ AYO1S AHO1S AdO1S AdO1S AdO1S
z
= ° Qo
L = 2 £
7 cg 2 H z
R g2 E 2 & =
~ (Gl n o (o)
ST°¢-S0°¢ Jealg Jealg Jeslg eslg Jea.lg
~~
>
Py s w = Wo =
N 55 T g 2£5 |z =
N o + T (] O U ™ ® ~
— (%] — ©
- ST 2 3 £ &85 = 8
S Jl4¥3 Jl4¥3 OlE! Jl43 pue Jl43
m M pue uoijesisi3ay pue uojjeJisi3ay pue uoljeJisi3ay uoneJlsigay pue uoljeJisi3ay
00°T-00°¢CT yauni yaunt yaum yaum yauni
(%]
w3
T8
%) %) =
28 £ £ SE 0
N S S £& 5
1 1 o (%]
n O © c
o - o S
—
-0€°0T yealg yeaJlg sealg yealg yealq
< <
K K
oo oo
c c
w w
o
o 78 78
= k= = P < <
0 53 53 = @ )
H < o < o M c c
[e)} a un a un w w
[sT]
" s =
H o oo oo m m fe
) o c o c o c £ £ 3
p 3 3 3 : ;2
o o 2 o 2 o 2 G} GRE=
S n ssepd u|
% M Alqwiassy Alqwiassy Ajquiassy Ajquiassy Alqwiassy
o
o
> s10e4 SH1VIN S1oe} SHIVIA Adeio AdeiQ pue s10e} sylein
M pue uoljesisi3ay pue uoleJlsiSay pue uoileJisiSay uoneJsi8ay pue uolleisiday

DAY

AVANOW

Avasant

AVAS3INagIMm

AvVasynHL

Availy4




